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=3 £ X(m) B (Latitude) BAREE X(m) 8 5 (Latitude) B
Y(m) H(m) B E (Longitude) H(m) Y(m) £ E (Longitude) H(m)
° ’ L Z(m) o ¢ ”
SLR-CPO -12.6580 =~ 44428 35 - 57 - 226183+ 69.5216 = -3997484.1606 = 35 - 57 - 11.011030« 35.1595
-12.7410= 140 - 39 - 27.4630= 3276842.5361=" 140 - 39 - 39374310+
3724307.0359v7
SLR-L1 5.5488 = 1.4003 = 35 - 57 - 23.2090+ 66.4828 ~ -3997460.7794= 35 - 57 - 11.601800= 321170 ==
-33.5776 = 140 - 39 - 26.6314= 3276850.3161= 140 - 39 - 38542750
3724319.9892
SLR-L2 -26.6099 1.4012 & 35 - 57 - 221656 = 66.4789 = -3997488.596 7= 35 - 57 - 10558320 32.1179=
-12.7326% 140 - 39 - 27.4633= 3276846.1627= 140 - 39 - 39.374640
3724293.9547~
SLR-L3 9.6842¢=" 1.4001 = 35 - 57 - 23.3432+=] 664781 -3997485.8210= 35 - 57 - 11.735990~ 32.1168 &= |
8.8864 = 140 - 39 - 28.3261= 3276815.9302= 140 - 39 - 40.237420=
3724323.3346 =
SLR-S1 6.7963v -0.1184 —~ 35 - 57 - 23.2495= 64.9631 = -3997465.6063« 35 - 57 - 11.642280 30.5983 =
-23.5681=" 140 - 39 - 27.0308= 3276841.3311= 140 - 39 - 38.942210+
3724320.1073="
SLR-82 -226774 = -0.1178«= 35 - 57 - 222932= 64.9604 =— —3997484.8831= 35 - 57 - 10.685920~ 30.5989 =
-14.2729 = 140 - 39 - 274018= 3276845.1114= 140 - 39 - 39.313170%
3724296.2466 =
SLR-S3 0.0000 =~ -0.1200 35 - 57 - 23.0290= 64.9583 = -3997483.6323 = 35 - 57 - 11421750= 30.5967 =
0.0000=" 140 - 39 - 279714= 3276825.6294 - 140 - 39 - 39.882780~]
3724314.6031
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8 SLR-H1 -11.6481 = ~0.3787« 35 - 57 -~ 226511 64.7004 =" -3997479.2917= 35 - 57 - 11.043800>= 30.3380 ==
-14.9354 = 140 - 39 - 273754= 3276841.3834 = 140 — 39 -~ 39.286730=
3724305.02345
9 SLR-H2 -10.4517= -0.3786 = 35 - 57 - 226899= 64.7002 < -3997480.7788 = 35 - 57 - 11.082610+ 30.3381F
-11.7322= 140 - 39 - 275032= 3276838.4613= 140 — 39 - 39.414560 =
3724305.99135
10 TPS-CPO -10.6697=" 2.5402« 35 - 57 - 226828=} 67.6169 = =3997494.5237 = 35 - 57 - 11.075530 = 33.2569="
6.9090. = 140 - 39 - 282472« 3276825.6205 140 - 39 - 40.158510 =
3724307.5267—
11 SLR-PGPS -113.4130= -7.7679 = 35 - 57 - 19.3494 = 57.3026 = -3997525.9996 35 - 57 - 7.741730 =} 22.9488 =
-6.8479 = 140 - 39 - 27.6982 3276869.2114 = 140 - 39 - 39.609490 =
3724218.3039 ==
12 VLBI-CPO -89.3545= -3.2858 = 35 - 57 - 20.1299 = 61.7886 = -3997506.2900 = 35 - 57 - 8522380 = 274309 ==
-25.1354 % 140 - 39 - 26.9684— 3276876.7027 = 140 - 39 - 38.879670.%=
37242404111
13 VLBI-P2 -101.7473=" -9.7249" 35 - 57 - 197279 & 55.3500 = -3997499.6945 = 35 - 57 - 8.120260 = 20.9918 =
-38.0546 =" 140 - 39 - 264528« 3276888.0033 = 140 = 39 - 38.364100 =
3724226.6009 &=
14 VLBI-P3 -78.1463 = -11.1780= 35 - 57 - 204936 = 53.8987 = -3997488.2456— 35 - 57 - 8.886060= 19.5387 =~
-31.7767= 140 - 39 - 26.4639 3276878.2586 =~ 140 - 39 - 38375180
37242448526 =
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VLBI-P4 -44.3821 = -4.3258 = 35 - 57 - 215890=} 60.7509 = -3997491.3462= 35 -~ 57 - 9981640« 26.3909~
-15.4698> 140 - 39 - 27.3541= 3276851.9550= 140 - 39 - 39.265410
3724276.2056 =
GSI-GPS -104.3356 = 0.2202 =" 35 - 57 - 19.6437 65.2753 = -3997616.1568== 35 - 57 - 8.036250= 30.9369 =
133.9752= 140 - 39 - 333184 =f 3276761.0024 = 140 - 39 ~ 452294507
3724230.3278x="
KAS34-CP0O -53.8553=~ 127257 35 - 57 - 21.2813 = 77.7758 &~ -3997649.8892 = 35 - 57 - 9674180 434424 <«
210.9901.=" 140 - 39 - 36.3920 = 3276689.0600= 140 - 39 - 48.303000 &
37242785250~
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Y(m) H(m) ¥ (Longitude) H(m) Y(m) B E (Longitude) H{m)
Y =z Z(m) o ©
18 SLR-L1(RT) 55488 = 1.5203 = 35 - 57 - 23.2090 = 66.6028 = —3997460.8545 = 35 - 57 - 11.601800=| 3223700 =
—33.5776‘% 140 - 39 - 26.6314=| 3276850.3777 =~ 140 - 39 - 38542750=
3724320.0596 =
19 SLR-1.2(RT) -26.6099% 1.521 2% 35 - 57 ~ 221656= 66.5989 < -39974886718 = 35 - 57 - 10558320 322379 =
-12.7326 = 140 -~ 39 - 27.4633.= 3276846.2243 = 140 - 39 - 39.374640 =
37242940252 =
20 SLR-L3(RT) 9.6842= 15201 35 - 57 - 23.3432+«j 66.5981 = -3997485.8962 = 35 - 57 - 11.735990 = 32.2368 =
8.8864> 140 - 39 - 28.3261= 3276815.9918= 140 - 39 - 40.237420=
3724323.4051 =
21 SLR-S1(RT) 6.7963= 0.0016 &= 35 - 57 - 232495« 65.0831 —3997465.6814 35 - 57 - 11.642280<] 30.7183 =
-23.5681= 140 - 39 - 27.0308=} 3276841.3927 « 140 - 39 - 38942210=
3724320.1778 =
22 SLR-S2(RT) -22.6774= 0.0022 « 35 - 57 - 222932= 65.0804=" —3997484.9583 = 35 - 57 - 10.685920 &= 30.7189 =
-14.2729= 140 - 39 - 274018 = 3276845.1730 = 140 - 39 - 39.313170
37242963171 &
23 SLR-S3(RT) 0.0000=" 0.0000 = 35 - 57 - 23.0290= 65.07835 —3997483.7075 = 35 - 57 - 11421750= 30.7167 >
0.0000 F 140 = 39 - 279714 3276825.6909 — 140 - 39 - 39.882780=
37243146736+
24 SLR-HI1(RT) -11.6481=" -0.4487 % 35 - 57 - 226511 64.6304 =~ -3997479.2479 = 35 - 57 - 11.043800= 30.2680 =~
-14.9354= 140 - 39 - 273754= 3276841.3475« 140 - 39 - 39.286730>
3724304.9823 =
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o R 2(m) s e
25 SLR-H2(RT) -10.4517 = -0.4486= 35 - 57 - 226899« 64.6302= —3997480.7350 = 35 - 57 - 11.082610== 30.2681 =
-11.7322 = 140 - 39 - 275032 = 3276838.4254= 140 — 39 - 39414560
3724305.9502 &
26 SLR-PGPS(RT) -8.0174 &
27 GSI-GPS(RT) -103.7148 &+ -4.9598 =~ 35 - 57 - 19.6638< 60.0953 = -3997612.5913= 35 - 57 - 8.056390= 25.7568 =
133.9104 &= 140 - 39 - 33.3158= 3276758.1641 140 - 39 - 45.226860=F
3724227.71878
28 SVEY-X1 -22.7817=" -1.1823 35 - 57 - 22.2898= 63.9250 = —3997489.2598 < 35 - 57 - 10.682530 = 29.5644 ="
-6.4227 = 140 - 39 - 27.7151= 3276838.5472 v 140 - 39 - 39.626460.=
37242955539 =
29 SVEY-X2 -33.7189 = -1.3059 35 - 57 - 219350= 63.7718 = -3997487.5273 =— 35 - 57 - 10327640 29.4108 =
-16.8365 = 140 - 39 - 27.2995= 3276850.5937 «— 140 - 39 - 39.210860 =
3724286.6119 =
30 SVEY-X3 -83.6559 = -7.3017= 35 - 57 - 20.3148 5777110 -3997513.0544 = 35 - 57 - 8.707290% 23.4150 =
~6.4182 &~ 140 ~ 39 - 277154 3276858.0425 = 140 - 39 - 39.626640 =
37242426653 &
31 SVEY-X4 24.8409 = 7.4595 = 35 - 57 - 23.8349<=" 725383 = -3997484.7583 35 - 57 - 12227790 38.1762 =
12.0809 > 140 - 39 - 28.4536+ 32768109277 = 140 - 39 - 40.364910x%
3724339.1606 =
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'S =1 £ X(m) B E (Latitude) BAES X(m) B E (Latitude) L)
Y(m) H(m) £E (Longitude) H(m) Y(m) $2E (Longitude) H(m)
SRR E Z(rm) -
32 SVEY-X5 -107.9440 - -50176 = 35 - 57 - 19.5266 = 60.0363 = -3997619.8314 = 35 - 57 - 7919160=| 256991=
1423598 140 - 39 - 33.6530% 3276753.1726 = 140 - 39 - 45564060
37242243301
33 SVEY-X6 -40.9455 & -0.5458 " 35 - 57 - 21.7003= 645120 = -3997598.4907 = 35 - 67 - 10093120=| 301709 =—
1522680 = 140 - 39 - 34.04B4= 3276722.8682 140 - 39 - 45959520=
3724281.1908 =
34 SVEY-X7 -77.2430 > -43236F 35 - 57 — 20.5225=~ 607261 -3997642.2616 =" 35 - 57 - 8915310 26.3931=
199.0444 & 140 - 39 - 359152 3276698.2573=" 140 - 39 - 47.826250~
37242495824 5~
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KRS B KOS DEHE R R EEL %)
1 o 2X {m) AY (m) AH (m) £ 5 C A8
AR 2 A I Y ERAER 25 AT DN B 22 AT i DY Y F+7 NET2B No.31481
1 | SLR-CPO 0.0015 =f 0.0015 0.0020 —- No.31788
2 | SLR-LI 0.00024= 0.0015 = 0.0004 &= 0.0015 < 0.00014= 0.0020 —
3 | SLR-L2 0.0003 4 0.0015 = 0.00034=  0.0015 _L- 0.00014~ 0.0020 |
4 | SLR-L3 0.0003}- 0.0015 <= 0.0002 L~ 0.0015 o 0.0001 L  0.0020 .}
5 | SLR-SI 0.00014- 0.0015 & 0.0003 . 0.0015 . 0. 0000 4= 0.0020 _}
6 | SLR-S2 0.0003 4= 0.0015 4= 0.00034= 0.0015 = 0.00004  0.0020 o
7 | SLR-S3 0.00004  0.0015 o 0. 0000~ 0.0015 0.0000 =  0.0020 RN, DR TF
8 | SLR-111 0.0005 L 0.0015 0.0006L  0.0015 0.0000¢  0.0020 L b1 0] i R
9 | SLR-I12 0.0005 = 0.0015 .} 0. OOOSI 0.0015 - 0.0000 L 0.0020 .t
10 | TPS-CPO 0.0015 o 0.0015 - 0.0020 <+
1 1 | SLR-PGPS 0.00064 0.0015 4 0.00074= 0.0015 0.0003 - 0.0020 _}
3 2 | SLR-PSI 0.00034— 0.0015 of 0.000%=  0.0015 4  0.0000L- 0.0020 -} L SERE
1 3 | SLR-PSM2 0.00024~ 0.0015 0.0003-  0.0015 4 0.0001 = 0.0020 1
14 | VLBI-CPO 0.0004L— 0.0015 o 0.0005¢& 0.0015 4 0.0002¢= 0.0020 _|-
15 | VLBI-P? 0.00044= 0.0015 = 0. 0006 4= 0.0015 - 0.00004~  0.0020 =
16 | VLBI-P3 0.00064 0.0015 o 0.00054 0.0015 < 0.0002L  0.0020 .}
17 | VLBI-P4 0.0006 = 0.0015 = 0.00024= 0.0015 o 0.00024= 0.0020 <
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e s AX (m) AY (m) AH (m) B A
ER AR 25 figa3 vl R4 5 A DY ERHE R 2= AFA DY Y +7 NET2B No.31481

18 | GSI-GPS 0.0004L- 0.0015 4= C.0008 L~ 0.0015 u= 0.0005 4 0.0020 . No.31788

19 | KAS34-CPO 0.00044 0.0015 L €. 0004}~ 0.0015 J- 0.00044- 0.0020 -

20 | GSI-GPS (RT) 0.0005L- 0.0015 L . 00084~ 0.0015 Lo 0.0001 L~ 0.0020 J

2 1 | SVEY-XI 0.0003 &= 0.0015 J~ C.0003L- 0.0015 |- 0.0001. 0.0020 |-

2 2 | SVEY-X2 0.0002L- 0.0015 - €.0001}- 0.0015 |- 0.0001 L~ 0.0020 [

2 3 [ SVEY-X3 0.0004 L 0.0015 | 6. 0004 | 0.0015 | 0.0002L- 0.0020 L

24 | SVEY-X4' 0.00054 0.0015 - 0.0003)L- 0.0015 L=  0.0002)- 0.0020 [ KRR D Rl

2 5 | SVEY-X5 0.0014L  0.0015 L 0.0009)_- 0.0015 L 0. 0000 0.0020 L Hiij] i HERIEEC

2 6 | SVEY-X6 0. 00164~  0.0015 4= 0.0008 - 0.0015 [~  0.0004)- 0.0020 |

2 7 | SVEY-XT 0. 0020. 0.0015 [f- 0.00104- 0.0015 L 0. 0000  0.0020 |-

28 [Tl 0.00044- 0.0015 - 0.00024- 0.0015 - 0. 0000, 0.0020 J-

29 [TI2 0. 0004 L 0.0015 | 0.00024= 0.0015 0. 0001 0.0020 [ St

30 |TI3 0.00050- 0.0015 | 0.0006) - 0.00t5 L 0. OOOIE 0.0020 _L

31(Tl4 0.0002.L- 0.0015 |- 0.00014 0.0015 L~ 0. 0001 0.0020 _}-

32 |TI5 0.00014 0.0015 |. 0.0003 4= 0.0015 L 0.0001 L~ 0.0020 L

33 |TIb 0.0002L  0.0015 L 0.0003 L.  0.0015 0.0001 L= 0.0020 |

34 |TIT 0.0002)~ 0.0015 & 0.0001L- 0.0015 |- 0.0001 L. 0.0020
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i) 4 i S A AX AY AH AX AY AH AX I AH

| [S L RSEEHIIENES SLR-CPO -0.0003%= -0. 000> 0. 00064

2 |S L RAMERBUSIIENE S (JEE) SLR-L1 0.0003=" 0.000%> 0.0002i 0.0001&  0.000lF -0.00014=  0.0004=  0.0008= 0.0001
3 % SLR-L2 0.000lg  0.0000, -0.0001F  0.0005+ -0.0001x=  0.000kz  0.0016= -0.0001&= 0.00004
4 X SLR-L3 ~0.0011e= -0.0010=  0.0000£= -0.000%k— 0.0002%= -0.000k= -0.0014kc -0. 00081 0. 000 4
5 [S L RAMERHIMIENE ST (SEAE) SLR-S1 ~0.0003¢=  0.0008,= 0.0002L- 0.0000&  0.000% 0.0000) -0.0003%  0.0010L= 0.000%
6 B SLR-S2 0.000kz= 0.000kz -0.000l4= 0.0003% -0.0002= 0.000%4=  0.0004k -0. 0001 0. 000 k=
1 % ~|SLR-83 _0.0000> 00000 0.0000¢= 0.0000& 0.00003= 0.0000£ 0.0000k 0.0000  0.00004=
8 |S L Rk SLR-II 0. 000lz 0. 0003 0. 0000¢=  0.00003= -0.0002=  0.000k=" -0.0001L— 0. 00054= 0. 00047
9 % SLR-112 0.0002- 0.000k 0.0004=-0.000L= -0.0005k= 0. 000 0. 000k 0. 0004 0. 00044
10 | S L RN 945 FHEi BT TPS-CPO | -0.001k= -0.0014%= -0. 0053

VLB 7> 53k VLBI-CPO 0.0020 -0.001%= -0.000%=  0.0007¢= -0.0012% 0.0028= 0.00274= -0.0025&= 0. 0018F
12 |G ke VLBI-P1 0.0011%=" -0.001%= -~
3 % VLBI-P2 0. 000%="_ 0. 001G -0.002% -0.0004= -0.0018— -0.0014" -0.001lx= -0.0034= -0.00484
M| 4 VLBI-P3 _ 0.002% -0.00184~ -0.001LE= 0.0016L -0.0016= -0.00iL=  0.0045= -0.0031&= -0.0022
15 e VLBI-P4 0.0004g= -0.0014z=  0.0000¢” 0.0000&= -0.000%= 0.0005%= 0.0004= -0.001Gk= 0. 0005~
16 [SLREFHANMALHE ST (k) BURS-1" 9b |SLR-L1 (RT) 0.0003"  0.000%  0.0004 0.000L=  0.0004s -0. 0001*; 0. 00044 0.0008=  0.000 =
17 X SLR-L2 (RT) 0.001L 0.0000& -0.000Lk  0.0005 -0.000kz=  0.0004= 0.0016% -0.000h= 0. 00004
18 % SLR-L3 (RT) -0.0011%=" -0.0016&  0.0008 -0.000%= 0.000%¢ —0.000&= -0.00] 0. 000&= 0. 0004
19 |SLROHARANALIENE &3 (KTHE) JUARLS-)" 9t |SLR-SI(RT) [ -0.0003% 0.0008  0.0004k  0.0000= 0. 00D 0.0000L= -0.0003%= 0.0010&= 0. 000%4=
20 & SLR-S2 (RT) 0.0001¥  0.0001% -0.0004 0.0003% -0.000%= _ 0.0004  0.0004= -0.0001&  0.000k
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19 4E1E — N 8 4 ) 11 04FRE—119 4 11 04FRE—[84ENE
4 o A% AX AY AH AX AY AH AX AY AH
| [SLREVEBINLALRE S (EEE) RS-S9} [SLR-S3 (RT) 0.000Q  0.0000c=  0.0000:  0.0000=  0.0000= 0.0000¢= 0.0000 0.000&= 0. 0000,

[SLRACUEIEHE A UGAE) M)~ ob  ISLR-LRD. | -0.0001 -0.000%=  0.0000&  0.0000= -0.0003 0.0004= -0.000= -0.0005 0.0001L
4 [SLR-H2@RT) 0.0002% 0.000k# 0.0001L- -0.000k= -0.0005¢ 0.000%4= 0.000k= -0.0004L  0.0003L

B L S1) o ) e |sver-x1 | -0.000n= -0.0006k 0. ooo_s,E -0. 0005 -0.00104= -0.000H= 0. 0006 -0. 0016 0. 0004
% ) SVEY-X2 | -0.000%= -0.001%7 0.0008)- -0.0002= -0.001lk= -0.001|L= -0.000%% -0.0028L- -0.000%

% SVEY-X3 00004 -0.000%=  0.0004=  0.000% -0.002k=  0.0008% 00014 -0.0028 0. 000¢
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